For: f(x)=3x*—5x*+1 Find:
Critical Numbers:

For f(x) =3x°-5x*+1 Find:
Critical Numbers: X# © & ¥/3
Increasing: (~00 ,0.}(""3, ®)

£(x)=15¢*-10%
0= 53(3x-4)

Iolccrri?sﬁ: Decreasing: (0 I"V;) 5)@ :. D 3yx-4=0
Maximums: Maximums: ¥ = . X=0 N '-|'/3 |
Minimums: Minimums: x> 3 £ (=00t .
Point of Inflections: Point of Inflections: X= l(ml‘j) £ 2NE) = -
Concave Up: Conaue LpL gl 1 ) 3 £Y2)= = +
i Concave Down: (—¢o, |

Concave Down: cave ;W”? i 4{3 + 800 ‘P"(K): wx3_ (aO)C'L

i rrany o =t 0 OK™(X-1)

\ £'00 LOX=0 ¥X-1=0
Xz 0 X=\

Given: f(x) Find:
Critical Numbers:
Increasing:
Decreasing:
Maximums:
Minimums:

Point of Inflections:
Concave Up:

Concave Down:

Given: f'(x) Find:
Critical Numbers:
Increasing:
Decreasing:
Maximums:

Minimums:

Point of Inflections: -

Given: f(x) Find:
Critical Numbers: .+ 7t W

Increasing: (-0, 2. )V (4,0 )
Decreasing: (A, &)U (b, 2 )

Maximums: (.= 7 £I X=lo
Minimums: Y=

Point of Inflections:
Concave Up: 3,5 )

Flenztie)=~ £43):03)A =
w2)= (FN) =+

Graph of f(x)

(
Concave Down: (~¢0, 3) U (5,00)

Given: f'(x) Find:
Critical Numbers: £= |4, § 71

Graph of f(x)

Increasing: (1,*W41) & (1,7)

Decreasing: (- 00, MU (T )00)

Maximums: ¥.="1
Minimums: X = |

Point of Inflections: X‘-‘-Z,q, b

Concave Up: (- 00, - )U( Y, )
Concave Down: (2,4) U (b, 2 )

Bx=4 is o ctifical numbex,
it is nol max/ min b no Sign change
PO0.T - have o have Sign ah&nge. i between,

Concave Up:
Concave Down:

L Graph of f'(x)
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